> restart
> Auno = A+D=1;Ados :=-6-A+B—9-D+FE=-11; Atres = 13-4 —-3-B+C+27-D—9
-E=36; Acuatro :=-29-4+4-B—27-D+27-E=-59; Acinco := 364 —12-B+4-C
—27-E=108
Auno=4+D=1
Ados = -6 A+B—9D+E=-11
Atres =13 A—3B+C+27D—-9E=36
Acuatro:=-294+4B—-27D+27E=-59
Acinco =36 A —12B+4C—27 E=108 1)
> with(linalg) :
> Para = solve( {Auno, Ados, Atres, Acuatro, Acinco})

_|,_ 936 _ 4450 _ 4443 _ 185 _ 600
i Para: {A 20T e ST e P e P } @
| > restart
> Ecua = diff (y(t), 182) — 6-diff (y(t),t) +9-y(t) =3-exp(3-t) + 5-cos(2-1)
2
Ecua = d—z y(t) —6 (i y(t)) +9y(t)=3 el45 cos(2 t) 3)
dl df
(> Condlni == y(0) =1, D(y) (0) =-2 plot(
i CondIni :==y(0) =1,D(y) (0) =-2 )
| > with(inttrans) :
> EcuaTL = subs(CondIni, laplace(Ecua, t, s))
EcuaTL = s laplace(y(t),t,s) +8 —s — 6 slaplace(y(t),t,s) +9 laplace(y(t),t,s) = P 5)
5
i s +4
> SolTL := simplify(isolate( EcuaTL, laplace(y(t),t,5)))
4 3 2

SolTL = laplace(y(t),t,s) = s —1ls 2+ 36 5 259 s+ 108 (6)
i (s—3)(s +4) (s —6s+9)
> SolPart == invlaplace(SolTL, s, t)

_= _ 25 60 . | Y 2
] SolPart:=y(1) =~ 5 cos(21) — 7 sin(21) + oo e (507 ¥ — 1300 7 + 288) )
> CondIni == y(0) =simplify(subs(t=0, rhs(SolPart)))
i CondIni :=y(0) =1 (t))
> CondIniDer := D(y) (0) =simplify(subs(t=0, rhs(diff (SolPart, t))))
CondIniDer :=D(y)(0) =-2 )

=> plot(rhs(SolPart),t=0.2.4)
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:> restart
> EcuaSist == diff (x[1](2),t) =2-x[1](¢) +3-x[2](¢) +4-t2, diff (x[2](2),t) =x[1](z) +4
x[2](t) +2-exp(3-t) : EcuaSist[1]; EcuaSist[2 ]

d
4 510 =23, (1) +3x,(1) +47

% X, (1) =x,(1) +4x,(1) +2¢"

(> Ecua = diff (x[21(1), 82) — 6-diff (x[2](1). 1) + 5-x[2](1) =47 + 2-exp(3-1)

R (4
Ecua : 7 X, (1) 6(dt Xy

=> VarUno = x[1](t) =diff (x[2](¢t), t)-4-x[2](t) —2-exp(3-¢)

VarUno == x, (1) = % X, (1) —4x,(1) —2¢"

(r)) +5x,(1) =47 +2¢"

=> SolGral[2] = dsolve(Ecua)

SolGral,==x,(1) =¢'_C2+&' Cl—~ &'+ 2 p4 28, 248

i 2 5 25 125
> SolGral[ 1] := eval(subs(x[2](t) =rhs(SolGral[2]), VarUno))

(10)

an

(12)

13)

(1 AN



- _ 3¢ sty 3 152 752
SolGral| :=x,(t) 3e C2+e" CI 5 ¢ 25 125
SolGral[2]
t 5t 1 3/, 4 o 48 248
t)y=e¢ C2 Cl —— —+ ——t+ =
xX(t)=e _C2+e _ 2e +5 +25 +125

EcuaSist[1]; EcuaSist[2 ]

d
dr 7!
d
dr 2

Comprobar = simplify(eval(subs(x[1](t) =rhs(SolGral[1]),x[2](t) =rhs(SolGral[2]),

lhs (EcuaSist[1]) — rhs(EcuaSist[1]) =0)))

Comprobar :=0=0
ComprobarDos = simplify(eval(subs(x[1](t) =rhs(SolGral[1]), x[2](t) =rhs(SolGral[2]),

lhs (EcuaSist[2]) — rhs(EcuaSist[2]) =0)))
ComprobarDos .= 0 =0

with(linalg) :
A4 = array([[2,3], [1,4]])
2
AA =
1
MatExp = exponential(AA, t)
3,0
7%
MatExp :=
1o 1
4 4

Identidad == map(rcurry(eval, t =0"), MatExp)

Identidad =

(£) =2x,(1) +3x,(1) +47

(1) =x,(1) +4x,(1) +2¢"
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